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def getpay(hours=40, rate=25, gty=0, gtyrate=0, salary=0):
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overtime = 0
if gty > O0O:
return gty * gtyrate
if salary > O0:
pass
if hours > 40:
overtime = (hours - 40) * (1.5 * rate)
return overtime + (40 * rate)
else:

return hours * rate
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A. IF0 getpay () NNBIEEFER ( )Yes ( )No
B. getpay(salary = 50000) A& OEFCJE o ( )Yes ( )No
C. getpay(gty = 500, gtyrate=4) @{&EER 20000 ( )Yes ( )No
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def cube(n):
""" Returns the cube of number n """
return n*n*n
FREBED ST IENHFFE 2
A. print( doc_ ) B. print(cube(doc))

C. print(cube. doc_ ) D. print(cube(docstring))
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